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Q=391 X 6 —(945+436 X 3)=93k]J
N+ 3H, =2NH; +93kJ T vEST 1 AN D OAERET 93k)/2mol=46.5k]/mol

7 ORZTBEBESTFTHOATFEIOKRBHEN D 5 DHANE <25,

4NH; + 302N, + 6H20

) kIGET C - -
K C(l-a)  Ca Ca
X o T, EEEL Kb=[NH4J[OHY/[NH:]=(C a)(Ca)/C(l-a)=Ca?/(l-a)=Ca?
Wz o=y Kb/C

(2) NHs=14+3=17 3.4g/17=0.2mol C=0.2/(0.1L)=2.0mol/L
a=y/ Kb/C=y (24X 105/2)=y (4)(3)(10%)=2/ 3X10?
Ca=2%x2/3%10?
=4X1.73 %1073
=6.92%10%=6.9 X 10-3mol/L

(3) KDoA A FE [HOH]=10"
[H*]=10"%/[OH]=1014/4y 3 X 103 =1011/(22 X 312
pH=—logio[H*]= —logio{10-11/(22 X 312)}
=11+ 2logi02+(1/2)log103=11+0.6+0.24
=11.84
=118

2x=(0.40x1011)/(8.3%10)(700)

RIGEZEMICKE 3omol, 3% nmol A7z &9 2 L PE BT 4nmol.

FTENR xmol R L7 LT 5 EABNOMERIIAE 3In-3x. B nx., TEIT 2xmol &85,
L7t T, RIGEOYEBRIIGn-3x)+Hn-x)+H2x=4n-2xmol &715,

AL ZPEEE 4n-(4n-2x)=2xmol &7 5,

PV=nRT & B, (2.00x107—1.60x107)(10%)=(2x)(8.3x10%)(273+427)

=(4x1019)/(5.81x106)
=0.688x10*=6.9x10°mol
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@Fe + H2SO4 - FeSO4 + Ha

i3
C+H20 - H2+CO

i 4
Fe 2 Fe?* + 2e~

Osz+4e~+2H,O - 40H~-

[l 5

B{LP L Fe,O3 TH Y ZD4HFEIT 160
Fe,03 E A #1E 2.5x103/160 = 0.0156 x 103
B D Fe(ll) DL EEZ

0.0156x10¥x2x1/0.01=3.12x10" =3.1 X 10-*mol/L

6
0.36/0.62%x2 (mg/L) = 1.161 mg/L

1.161/56 = 0.0207 X103 = 2.1 X105 mol/L

R 7

BUCEBRF D Fe (1) AFViBEL2KRD 2, RWwTFe () /A4 Z&ETL
BICHIEEITVw, @ Fe /A ViBEL2Rk® 2, 284 A VRE» L, mAICK
W7 Fe (1) A4 VvBEXB{zrick) Fe () A4 VEBELZERD 3,
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B4 7 199, 4 :67

R
“52g DAFLVOYEEIL05mol TH 270, Him LG o 2/LEY DEFE 198)i3. 198%0.5=99
XoT, 7:99

- EROoNBILAMDIX9g THED, 2BMBOIEEE 1. 47.52=(4/100) x (72/100) x 99, &
NZEES &, X=66.66 = 67 £ 723,
LoT, 4 167
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AFL 2 ETH T OMMARIL CHs. CHe THDINE, AFL 2 OEEx ET56&, B
BILITRE + KFE=[96x + 48(1-x)]:[(8x + 6(1-x)] = [48x + 48]:[2x + 6] = 9:1
18x+54=48x+48 — 30x=6 — x=0.2
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